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Question Id : 68634050020 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

Over the past few years. India's economy has expanded progressively. which has
prompted the establishment of numerous prosperous businesses. These enterprises
have been able to compelte successfully with some of the largest brands in the
international market by utilizing the nation's sizable and expanding market as well
as its skilled labor force.

In India, there is a substantial and expanding local market, which is one of the
factors contributing to these enterprises' rapid growth. India 1s one of the world's
biggest consumer markets with a population of more than 1.3 billion. As a result.
businesses can now focus on meeting the needs of regional customers and laying a
solid groundwork for future expansion.

These businesses have also been able to benefit from globalization and the
growing interconnection of the world economy at the same time. Through
partnerships or acquisitions, many of these businesses have been able to grow their
operations abroad and access new markets all around the world.

India's developing businesses continue to prosper and grow. These businesses are
well-positioned to continue to be successful in the years to come because of a
sizable and expanding market. a competent workforce. and an emphasis on
mnovation and entrepreneurship. It i1s expected that as the nation develops and
grows. more businesses will start up. spawning fresh markets and propelling
domestic and global economic growth.

The Economic Times and Statista come together to unveil the fourth edition of
India's Growth Champions 2023 ranking the Top 125 companies in India that have
accomplished the highest percentage growth in revenues between 2019 and 2022,

This annual ranking puts the focus on the fastest growing companies among all
Indian industries regarding revenue. Enterprises must have generated minimum
revenue numbers over a three-year period to register and apply. be mdependent
entities. and have primarily demonstrated organic growth.

Sub questions

Question Number : 1 Question Id : 68634050021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the most appropriate title for the passage.
1. Economic Times and statista rank companies
2. Population of India - A boon or a bane
3. India's Growth Champions

4. Globalisation and development - a case study
Options :
686340197601. 1
686340197602. 2
686340197603. 3
686340197604. 4

Question Number : 2 Question Id : 68634050022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not an exclusive criteria for the Growth Champion
Rankings

1. Generating minimun revenue mbers

| ()

. Being an independent entity
3. Demonstrating organic growth

4. Having operated for atleast three years
Options :
686340197605. 1
686340197606. 2
686340197607. 3
686340197608. 4

Question Number : 3 Question Id : 68634050023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What enables business in laying a solid groundwork for future expansion?
1. India's substantial and expanding local market
2. India's progressively expanding economy
3. Population of 1.3 billion

4. Meeting the needs of regional customers
Options :
6863401976009. 1
686340197610. 2
686340197611. 3
686340197612. 4

Question Number : 4 Question Id : 68634050024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Partnerships and acquistion are made possible due to :

1. India's population

| ]

. Globalisation

LS ]

. Progressive expansion of economy

4. Growing operations abroad
Options :
686340197613. 1
686340197614. 2
686340197615. 3
686340197616. 4

Question Number : 5 Question Id : 68634050025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following events are expeted becuase of the starting up of new
businesses?

A. New markets would come up

B. A competent work force will emerge

C. Domestic economic development

D. Global economic growth

E. An emphasis on innovation and entrepreneurship

Choose the correct answer from the options given below:

1. B and E only

| ]

.B. Cand D only
3. A.B and E only

4. A, C and D only
Options :
686340197617. 1
686340197618. 2
686340197619. 3
686340197620. 4

Question Id : 68634050020 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Over the past few years. India's economy has expanded progressively. which has
prompted the establishment of numerous prosperous businesses. These enterprises
have been able to compelte successfully with some of the largest brands in the
mternational market by utilizing the nation's sizable and expanding market as well
as its skalled labor force.

In India, there is a substantial and expanding local market, which is one of the
factors contributing to these enterprises' rapid growth. India 1s one of the world's
biggest consumer markets with a population of more than 1.3 billion. As a result.
businesses can now focus on meeting the needs of regional customers and laying a
solid groundwork for future expansion.

These businesses have also been able to benefit from globalization and the
growing interconnection of the world economy at the same time. Through
partnerships or acquisitions, many of these businesses have been able to grow their
operations abroad and access new markets all around the world.

India's developing businesses continue to prosper and grow. These businesses are
well-positioned to continue to be successful in the years to come because of a
sizable and expanding market. a competent workforce, and an emphasis on
innovation and entrepreneurship. It is expected that as the nation develops and
grows. more businesses will start up. spawning fresh markets and propelling
domestic and global economic growth.

The Economic Times and Statista come together to unveil the fourth edition of
India's Growth Champions 2023 ranking the Top 125 companies in India that have
accomplished the highest percentage growth in revenues between 2019 and 2022.

This annual ranking puts the focus on the fastest growing companies among all
Indian industries regarding revenue. Enterprises must have generated minimum
revenue numbers over a three-year period to register and apply. be mdependent
entities. and have primarily demonstrated organic growth.

Sub questions

Question Number : 1 Question Id : 68634050021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the most appropriate title for the passage.

1. Economic Times and statista rank companies

[

. Population of India - A boon or a bane
3. India's Growth Champions

4. Globalisation and development - a case study



Options :

686340197601. 1
686340197602. 2
686340197603. 3
686340197604. 4

Question Number : 2 Question Id : 68634050022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not an exclusive criteria for the Growth Champion
Rankings

1. Generating minimun revenue mbers

| ()

. Being an independent entity
3. Demonstrating organic growth

4. Having operated for atleast three years
Options :
686340197605. 1
686340197606. 2
686340197607. 3
686340197608. 4

Question Number : 3 Question Id : 68634050023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What enables business in laying a solid groundwork for future expansion?

1. India's substantial and expanding local market

| )

. India's progressively expanding economy
3. Population of 1.3 billion

4. Meeting the needs of regional customers
Options :
686340197609. 1
686340197610. 2
686340197611. 3
686340197612. 4



Question Number : 4 Question Id : 68634050024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Partnerships and acquistion are made possible due to :

1. India's population

| )

. Globalisation

Tl

. Progressive expansion of economy

4. Growing operations abroad
Options :
686340197613. 1
686340197614. 2
686340197615. 3
686340197616. 4

Question Number : 5 Question Id : 68634050025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following events are expeted becuase of the starting up of new
businesses?

A. New markets would come up

B. A competent work force will emerge

C. Domestic economic development

D. Global economic growth

E. An emphasis on mnovation and entrepreneurship

Choose the correct answer from the options given below:

1. B and E only

| ]

.B. C and D only
3. A.B and E only

4. A. C and D only
Options :
686340197617. 1
686340197618. 2
686340197619. 3
686340197620. 4



Sub-Section Number : 2

Sub-Section Id : 6863401629
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 6 Question Id : 68634050026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blank with the appropriate verb

The teacher as well as the students commutted to the course.

1. are

| ]

. are being
3. 18

4, were
Options :
686340197621. 1
686340197622. 2
686340197623. 3
686340197624. 4

Question Number : 6 Question Id : 68634050026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blank with the appropriate verb

The teacher as well as the students commutted to the course.

1. are

| ]

. are being
3. 18

4. were
Options :
686340197621. 1
686340197622. 2
686340197623. 3
686340197624. 4



Question Number : 7 Question Id : 68634050027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct preposition to complete the sentence.

[ have an aversion eating with dirty hands.

1. with

I-2

. to
3. from

4. by
Options :
686340197625. 1
686340197626. 2
686340197627. 3
686340197628. 4

Question Number : 7 Question Id : 68634050027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct preposition to complete the sentence.

I have an aversion eating with dirty hands.

1. with

-2

. to
3. from

4. by
Options :
686340197625. 1
686340197626. 2
686340197627. 3
686340197628. 4

Question Number : 8 Question Id : 68634050028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
[Ensconce [. |Flowenng or fruiting earlier than usual
Precocious II. [Lesser the seriousness of something

[Defenestration | [I1. [Establish in a secret place
Extetiuate IV. |The active of throwing someone out of a windowj

ofa[w]>

Choose the correct answer from the options given below:

1. A-I. B-IV. C-II. D-III

| ]

AL B-1L C-IV. D-II
3. A-IL. B-1II. C-1. D-IV

4. A-IV, B-II. C-III. D-I
Options :
686340197629. 1
686340197630. 2
686340197631. 3
686340197632. 4

Question Number : 8 Question Id : 68634050028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Ensconce [. |Flowerning or fruiting earlier than usual
B. [Precocious II. [Lesser the seriousness of something
C. |[Defenestration | [IL. |[Establish in a secret place
D. [Extenuate IV. |The active of throwing someone out of a windowj

Choose the correct answer from the options given below:

1. A-I. B-IV. C-II. D-III

| ]

AL B-1L C-IV. D-II
3. A-II. B-III. C-I. D-IV
4. A-IV. B-II. C-1II. D-I

Options :
686340197629. 1



686340197630. 2
686340197631. 3
686340197632. 4

Question Number : 9 Question Id : 68634050029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the appropriate phrased verb from the given options to fill in the blank
meaningfully.

The audience was by her magical entrance.

1. blown over

[ ]

. broken down

Taa

. bowled over

4. boiled down
Options :
686340197633. 1
686340197634. 2
686340197635. 3
686340197636. 4

Question Number : 9 Question Id : 68634050029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the appropriate phrased verb from the given options to fill in the blank
meaningfully.

The audience was by her magical entrance,

1. blown over
2. broken down
3. bowled over

4. boiled down
Options :
686340197633. 1
686340197634. 2
686340197635. 3



686340197636. 4

Question Number : 10 Question Id : 68634050030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following sentence has an error. Choose the option where the error is
corrected.

Given that inflation was touched 8 percent or so. the drop in the price-rise trend
seems like a good thing.

1. Given that inflation has touched

| ]

. 8 percent and so
3. a drop in the price - rise trend

4. had seemed like a good thing
Options :
686340197637. 1
686340197638. 2
686340197639. 3
686340197640. 4

Question Number : 10 Question Id : 68634050030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following sentence has an error. Choose the option where the error 1s
corrected.

Given that inflation was touched 8 percent or so. the drop in the price-rise trend
seems like a good thing.

1. Given that inflation has touched

| B

. 8 percent and so
3. a drop in the price - rise trend

4. had seemed like a good thing
Options :
686340197637. 1
686340197638. 2
686340197639. 3



686340197640. 4

Question Number : 11 Question Id : 68634050031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find a single discount equivalent to series of dicounts 10%. 15%. 20%

1.3

i

%o

| ()

. 38.8%
3. 40%

4. 42.2%
Options :
686340197641. 1
686340197642. 2
686340197643. 3
686340197644. 4

Question Number : 11 Question Id : 68634050031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find a single discount equivalent to series of dicounts 10%, 15%. 20%

1.3

i

%o

| ()

. 38.8%
3. 40%

4.42.2%
Options :
686340197641. 1
686340197642. 2
686340197643. 3
686340197644. 4

Question Number : 12 Question Id : 68634050032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. ) . . . .
The surface area of a cube 15 864 cm~. The length of its diagonal (in cm) 1s

1.12

[ ]

.4 43
3.642

4. 12 43
Options :
686340197645. 1
686340197646. 2
686340197647. 3
686340197648. 4

Question Number : 12 Question Id : 68634050032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

' 7 . . . .
The surface area of a cube 1s 864 em~. The length of its diagonal (in cm) 1s

1.12

| ]
Ny
=
N

4.12 43
Options :
686340197645. 1
686340197646. 2
686340197647. 3
686340197648. 4

Question Number : 13 Question Id : 68634050033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ifin a AABC. £A + £B =90° and cos B = 12/13. then find the value of sin C - tan
AsinB-smA

1.1
2.-24/13
3.-11/13
4. -85/156

Options :

686340197649. 1
686340197650. 2
686340197651. 3
686340197652. 4

Question Number : 13 Question Id : 68634050033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ifin a AABC. £A+ £B =90° and cos B = 12/13. then find the value of sin C - tan
AsinB-smA

1.1
2.-24/13
3.-11/13
4. -85/156

Options :

686340197649. 1
686340197650. 2
686340197651. 3
686340197652. 4

Question Number : 14 Question Id : 68634050034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average weight of 50 students in a class 1s 45kg. One student leaves the class
and the average weight reduces by 1/2 kg. what 1s the weight of the student (in kg)
who left the class?

1. 67.5

| ]

. 68
3. 69

4. 69.5
Options :
686340197653. 1
686340197654. 2
686340197655. 3
686340197656. 4

Question Number : 14 Question Id : 68634050034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average weight of 50 students in a class 1s 45kg. One student leaves the class
and the average weight reduces by 1/2 kg. what 1s the weight of the student (in kg)
who left the class?

1. 67.5

| ]

. 68
3. 69

4. 69.5
Options :
686340197653. 1
686340197654. 2
686340197655. 3
686340197656. 4

Question Number : 15 Question Id : 68634050035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Persons in the ratio 11:14 are attending conference in hall A and hall B. If 20
persons from hall B move to hall A, the ratio will become 12:13. How many
persons are attending conference in hall A?

1:200

| ]

. 220
3.231

4,242
Options :
686340197657. 1
686340197658. 2
686340197659. 3
686340197660. 4

Question Number : 15 Question Id : 68634050035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Persons in the ratio 11:14 are attending conference in hall A and hall B. If 20
persons from hall B move to hall A, the ratio will become 12:13. How many
persons are attending conference in hall A?

1:200

| ]

. 220
3.231

4. 242
Options :
686340197657. 1
686340197658. 2
686340197659. 3
686340197660. 4

Question Number : 16 Question Id : 68634050036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



On what day of February 1997 did first Friday fall?

1.

L

|
o

4.8
Options :
686340197661. 1
686340197662. 2
686340197663. 3
686340197664. 4

Question Number : 16 Question Id : 68634050036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
On what day of February 1997 did first Friday fall?

1.

L

J
o

4.8
Options :
686340197661. 1
686340197662. 2
686340197663. 3
686340197664. 4

Question Number : 17 Question Id : 68634050037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the missing term in the series lmnpq3. 2npqm4. 3pqmn5, ?

1. 5gmpné

| ]

. Tmqp4

Tl

. 4qmnp6

4. 4mmnpqs
Options :
686340197665. 1
686340197666. 2
686340197667. 3
686340197668. 4

Question Number : 17 Question Id : 68634050037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the missing term in the series lmnpg3. 2npgm4. 3pqmnS5, ?

1. 5gmpn6

| ]

. Tmqp4

L]

. 4gmnp6

4. 4nmpqs
Options :
686340197665. 1
686340197666. 2
686340197667. 3
686340197668. 4

Question Number : 18 Question Id : 68634050038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Point B is 6m towards East of point A. Point C 1s 3 m towards the North of point
B. Point D 18 4 m towards the East of point C. Point E 18 3 m towards the south of
point D. A man starts from A and walks towards South 2m. He turns left and walks
for 6 m. He then starts walking towards North. Find out which point will he meet
first.

Choose the correct options :

1.D

=

C
3. B

4. B
Options :
686340197669. 1
686340197670. 2
686340197671. 3
686340197672. 4

Question Number : 18 Question Id : 68634050038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Point B iz 6m towards East of point A. Point C 18 3 m towards the North of point
B. Point D 1s 4 m towards the East of point C. Point E 1s 3 m towards the south of
point D. A man starts from A and walks towards South 2m. He turns left and walks
for 6 m. He then starts walking towards North. Find out which point will he meet
tirst.

Choose the correct options :

1.D

=

i
A B

4.B
Options :
686340197669. 1
686340197670. 2
686340197671. 3
686340197672. 4



Question Number : 19 Question Id : 68634050039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A statement followed by four conclusions A. B. C. D are given.

Study the conclusions based on given statement and find which of the conclusions
tollow.

Statement : All leaves are flowers
All flowers are branches
Conclusions : A. All branches are leaves
B. All leaves are branches
C. All flowers are branches
D. All flowers are leaves

Choose the correct option

1. only A and D

| ]

.only B and C
3. only A

4. only C and D
Options :
686340197673. 1
686340197674. 2
686340197675. 3
686340197676. 4

Question Number : 19 Question Id : 68634050039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A statement followed by four conclusions A. B. C. D are given.

Study the conclusions based on given statement and find which of the conclusions
tollow:.

Statement : All leaves are flowers
All flowers are branches
Conclusions : A. All branches are leaves
B. All leaves are branches
C. All flowers are branches
D. All flowers are leaves

Choose the correct option :

l.onlyAand D

-

.only B and C

L]

.only A

4. only Cand D
Options :
686340197673. 1
686340197674. 2
686340197675. 3
686340197676. 4

Question Number : 20 Question Id : 68634050040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Lily. Meena. Neha. Onkar, Preeti. Aman and Ritu are sitting on a round table and
all are facing the center of table Onkar 1s sitting between Lily and Ritu. Aman i1s
second to the right of Ritu and Preeti is second to the right of Aman. Neha 1s not an
immediate neighbour of Ritu.

Find out how many persons are sitting between Neha and Ritu in clockwise
direction.if we start to count from ritu?

Choose the correct option :

1:2

| ]
i

3. 4

4.5
Options :
686340197677. 1
686340197678. 2
686340197679. 3
686340197680. 4

Question Number : 20 Question Id : 68634050040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Lily. Meena. Neha, Onkar. Preeti. Aman and Ritu are sitting on a round table and
all are facing the center of table Onkar 1s sitting between Lily and Ritu. Aman 1s

second to the right of Ritu and Preeti 18 second to the right of Aman. Neha 1s not an
immediate neighbour of Ritu.

Find out how many persons are sitting between Neha and Ritu in clockwise
direction.if we start to count from ritu?

Choose the correct option :

1:2

| ]
L]

3.4

4.5
Options :
686340197677. 1
686340197678. 2



686340197679. 3
686340197680. 4

Question Number : 21 Question Id : 68634050041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"National Panchayati Raj’ Day in India celebrated on

1. 26t January

289 October

-2

3. 215 April

4. 224%™ April
Options :
686340197681. 1
686340197682. 2
686340197683. 3
686340197684. 4

Question Number : 21 Question Id : 68634050041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"National Panchayati Raj’ Day in India celebrated on

1,260 January

. 224 October

|

3. 215 April

4, 24™ Apri]
Options :
686340197681. 1
686340197682. 2
686340197683. 3
686340197684. 4

Question Number : 22 Question Id : 68634050042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I (newspaper)[LIST II (place of publication)
A |The Times I. |China
B. |The Island II. [London
C. [Red flag II1. [Karachi
D. [Davwn IV |Colombo

Choose the correct answer from the options given below:

1. A-IL. B-IV, C-I. D-III

| ]

A-IL B-IV. C-II1L D-I
3. A-IV, B-1I. C-I. D-III

4. A-III. B-IV. C-1. D-II
Options :
686340197685. 1
686340197686. 2
686340197687. 3
686340197688. 4

Question Number : 22 Question Id : 68634050042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I (newspaper)]LIST II (place of publication)
A |The Times [. |China
B. |The Island II. [London
C. [Red flag III. [Karachi
D. [Davwn IV |Colombo

Choose the correct answer from the options given below:

1. A-II. B-IV. C-I. D-III

| ]

CA-IL B-IV. C-IIIL. D-I
3. A-IV. B-II. C-I, D-III
4. A-III. B-IV. C-I, D-II

Options :
686340197685. 1



686340197686. 2
686340197687. 3
686340197688. 4

Question Number : 23 Question Id : 68634050043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who has received the Nobel Prize for the year 2022 in the field of Medicine?

1. Elle Jons

| ]

. George Mathews
3. Svante Pabo

4. Andy Booker
Options :
686340197689. 1
686340197690. 2
686340197691. 3
686340197692. 4

Question Number : 23 Question Id : 68634050043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who has received the Nobel Prize for the year 2022 in the field of Medicine?

1. Elle Jons

| ]

. George Mathews
3. Svante Pabo

4. Andy Booker
Options :
686340197689. 1
686340197690. 2
686340197691. 3
686340197692. 4

Question Number : 24 Question Id : 68634050044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The petroleum gas liquified under pressure is called liquified gas
(LPG)

Statement II: LPG consists mainly of methane (95%) which is a relatively
unreactive hydrocarbons and make it nearly complete combustion possible.

In the light of the above statements, choose the correct answer from the options
given below

1. Both Statement [ and Statement II are true

[ ]

. Both Statement I and Statement II are false

L]

. Statement I 1s true but Statement II 1s false

4, Statement I 1s false but Statement II 1s true
Options :
686340197693. 1
686340197694. 2
686340197695. 3
686340197696. 4

Question Number : 24 Question Id : 68634050044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The petroleum gas liquified under pressure 1s called liquified gas
(LPG)

Statement II: LPG consists mainly of methane (95%) which is a relatively
unreactive hydrocarbons and make it nearly complete combustion possible.

In the light of the above statements. choose the correct answer from the options
given below

1. Both Statement [ and Statement I are true

[ ]

. Both Statement I and Statement II are false

L)

. Statement I 1s true but Statement IT 1s false

4, Statement I 15 false but Statement II 1s true
Options :
686340197693. 1
686340197694. 2
686340197695. 3
686340197696. 4



Question Number : 25 Question Id : 68634050045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The term 'cherry picking' 1s used in which sports?

1. Swimming
2. Table Tennis
3. Basketball

4. Cricket
Options :
686340197697. 1
686340197698. 2
686340197699. 3
686340197700. 4

Question Number : 25 Question Id : 68634050045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The term 'cherry picking' is used in which sports?

1. Swimming
2. Table Tennis
3. Basketball

4. Cricket
Options :
686340197697. 1
686340197698. 2
686340197699. 3
686340197700. 4

Part B: Rabindra Sangit

Section Id : 686340986
Section Number : 2
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 75

Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401630
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634050046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The lyrics "Bhara Badara Maha vadara" written by:-

1. Joydev

[ ]

. Vidyapati
3. Bhamu Singha

4. Gobinda Das
Options :
686340197701. 1
686340197702. 2
686340197703. 3
686340197704. 4

Question Number : 26 Question Id : 68634050046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I 4RI §181 Tl areer [ad gRI foran &

1. 51g4d

2. faemafa
3. 4 i
4. Tfdg 4

Options :
686340197701. 1




686340197702. 2
686340197703. 3
686340197704. 4

Question Number : 27 Question Id : 68634050047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the song which is composed in Rag 'Malkous'?

1. Ananda dhara bobichhe bhubane
2. Ananda tumi swanu
3. Ananderi Sagar hote

4. Ananda loke Mangala loke
Options :
686340197705. 1
686340197706. 2
686340197707. 3
686340197708. 4

Question Number : 27 Question Id : 68634050047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I HIdS 1 H g4 Tiid &1 9gdi-u;
3G YRT i e Ya-

3. A AR Bid

4. g T HITel dld
Options :
686340197705. 1
686340197706. 2

686340197707. 3
686340197708. 4

—

| ]

Question Number : 28 Question Id : 68634050048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
The novel 'Gora' i1s dedicated to:-

1. Kshiti mohan Sen
2. Rathindra Nath Tagore
3. Pratima Devi

4. Indradevi Chawdhurani
Options :
686340197709. 1
686340197710. 2
686340197711. 3
686340197712. 4

Question Number : 28 Question Id : 68634050048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SUIE IR {54 &1 guftd feban a1 &:
1. ¥ Hg= I
2. A ATy SR
3. yfauT &di

4, Sf3=1 &t <eRE
Options :
686340197709. 1
686340197710. 2
686340197711. 3
686340197712. 4

Question Number : 29 Question Id : 68634050049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Drama 'Taser Desh' dedicated to:-

—

. Vijay Lakshmi Pandit

| ]

. Pandit Jawaharlal Nehm

%)

. Netaji Subhash Chandra Bose

4. Dinendra Nath Tagore
Options :
686340197713. 1
686340197714. 2
686340197715. 3
686340197716. 4

Question Number : 29 Question Id : 68634050049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tled dER 34X fed gaftd g
1. faorg qedt dfed

2. §. 5/d18R AT g%
3. TSI gy 9 919
4. 9 AU TIR

Options :

686340197713. 1
686340197714. 2
686340197715. 3
686340197716. 4

Question Number : 30 Question Id : 68634050050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The song "purba gagana bhage" used in which drama:-
1. Natir Puya

2. Malancha

%)

. Jagajog

4. Chandalika
Options :
686340197717. 1
686340197718. 2
686340197719. 3
686340197720. 4

Question Number : 30 Question Id : 68634050050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 'gd T YA fhy H1ee 1 g
1. TR gt
2. HIdEl
3. SITSINT
4, JsTieiap1

Options :

686340197717. 1
686340197718. 2
686340197719. 3
686340197720. 4

Question Number : 31 Question Id : 68634050051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who wrote the notation of the song "Hemor chitta punna tirthe":-

1. Shantidev Ghosh

| )

. Aurnal Bake
3. Anandi Kumar Dastidar

4. Bhim rao Shastri
Options :
686340197721. 1
686340197722. 2
686340197723.3
686340197724. 4

Question Number : 31 Question Id : 68634050051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Rl o gt i 1fid 1 wa=fer fow fordr:
1. ¥idi 49 919
3 d |

3. 3Hdl AR GHAIGR
4, Y9 379 QT

Options :

686340197721. 1
686340197722. 2
686340197723. 3
686340197724. 4

| ]

Question Number : 32 Question Id : 68634050052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the poem 'Bharat Tirtha' from the following list:-

1. He Bharat aji tomari sabhay

| ]

. he mor chitta punna tirthe
3. E Bharate rakho nitya prabhu

4. Aji e Bharata lajjit he
Options :
686340197725. 1
686340197726. 2
686340197727. 3
686340197728. 4

Question Number : 32 Question Id : 68634050052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafaRed § 9 yRd o Siaar &1 9gane:
1. ® URd 3feil ARl g9
2. B OR fa g oty
3. % YRA ™G A vy
4, 3ol T HRA AfeTd ©

Options :

686340197725. 1
686340197726. 2
686340197727. 3
686340197728. 4

Question Number : 33 Question Id : 68634050053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the song which is taken from sub-category 'Bandhu'?

1. Kabe aami behir holem tomari gaan

| )

. Aloker li jharna dharaj dhuiyedao
3. Amar milan lagi tumi

4. pratidin taba gatha gabo aami sumodhur
Options :
686340197729. 1
686340197730. 2
686340197731. 3
686340197732. 4

Question Number : 33 Question Id : 68634050053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=g 1fid P! ug=I- ol 3U 9uii &y § fergn man g
1. Td AT SfeR B1eH dART T

3R g IRAT U o0 <t

3. 3R forer ol guf

4, Yfe e T TITET S{THT AR

Options :

686340197729. 1
686340197730. 2
686340197731. 3
686340197732. 4

| ]

Question Number : 34 Question Id : 68634050054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the song which starts from Sudda dhaibat:-

1. O1 jhanjhar jhankare jhankare

| ]

. Tomar surer dhara jhare

T

. Eso Shyamal Sundhara

4. Tumi naba naba rupe eso
Options :
686340197733. 1
686340197734. 2
686340197735. 3
686340197736. 4

Question Number : 34 Question Id : 68634050054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g dad I Y= 8H ard 7iid B gaid:

1. 313 SR SHHR TR

2. IR W YRT IR
3. UYI 2 a3
4. QA e I EO T

Options :

686340197733. 1
686340197734. 2
686340197735. 3
686340197736. 4

Question Number : 35 Question Id : 68634050055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following songs 1s applied in drama 'Rakta Karabi':-

1. Aar rekhona andhare amay

| ]

. O1 megh kare bhujhi gagane

%)

. Amar paran jaha chay

4. O chand Chokar jaler laglo jowar
Options :
686340197737. 1
686340197738. 2
686340197739. 3
686340197740. 4

Question Number : 35 Question Id : 68634050055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et d S 91 7d Tce 9d dRer & v A e
1. 3R TGHT YR 3HU
31 By T g5l W

3. STHR YU Bigl 91U

| ]

4, 31 97 PR AR ATl SiaR
Options :
686340197737. 1
686340197738. 2
686340197739. 3
686340197740 4

Question Number : 36 Question Id : 68634050056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The original melody of the Tagore song 'Aha aji1 e basante' is taken from:-

1. The vicar brey

| )

. Naney Lee
3. Go where golry waits thee

4. Drinks to me only
Options :
686340197741. 1
686340197742. 2
686340197743. 3
686340197744. 4

Question Number : 36 Question Id : 68634050056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR & 1 3181 3foll U aid &t Aifeid ¢ Fal I &l 75 o:

1. dlargH &R
2.9

3. MR IERI A gl
4. fSag ¢ @t 31t

Options :

686340197741. 1
686340197742. 2
686340197743. 3
686340197744. 4

Question Number : 37 Question Id : 68634050057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the first song of Bengali Gitanjali?
1. He mor devota
2. kanna hasir dol dolano
3. Gaye aamar pulak lage

4. Amar matha noto kore dao he
Options :
686340197745. 1
686340197746. 2
686340197747. 3
686340197748. 4

Question Number : 37 Question Id : 68634050057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST Tiidistier & UyH Tid @i gg=i-g;
1. 8 AR ST
2. D91 GIRR g1 g
3. MY 3R YA dFl
4. 3THR HYT Fidl SR <131 8

Options :

686340197745. 1
686340197746. 2
686340197747. 3
686340197748. 4

Question Number : 38 Question Id : 68634050058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the song which is composed in 'Dhamar Taal' from the following:-

1. He nutan dekha dikaar bar

| ]

. Khara bau boy bege

%)

. Nutan prana dao prana sakha

4. Kanna hasir dol dolano
Options :
686340197749. 1
686340197750. 2
686340197751.3
686340197752. 4

Question Number : 38 Question Id : 68634050058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeiad o ¥ vmR drer 9 Ied 1iid & g
1.8 a7 s@I fGPR IR
2. WRI AN, |U &1
3. <] WTOT 134T TT0T
4. DT GIRR gdd gla

Options :

686340197749. 1
686340197750. 2
686340197751. 3
686340197752. 4

Question Number : 39 Question Id : 68634050059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the song which is not from 'Gitanjali':-
1. Anander1 sagar hote

. Kato ajanare janaile tumi

| ]

%)

. Aj1 shrabon ghona gohan mohe

4. Khara bau boy bege
Options :
686340197753. 1
686340197754. 2
686340197755. 3
686340197756. 4

Question Number : 39 Question Id : 68634050059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 7i1d 1 gg=n-e, ot widiwier 3 781 8
S PR gl

. BIeT 3SR S el

3. 3fofl 4907 ¥ 75 Hie

4. @RI G GT &
Options :
686340197753. 1
686340197754. 2
686340197755. 3
686340197756. 4

—

[ ]

Question Number : 40 Question Id : 68634050060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In which year Rabindra Nath started 'Brahma Vidyalay' at Shantiniketan?

1. 1895

| ]

. 1900
3. 1901

4. 1905
Options :
686340197757. 1
686340197758. 2
686340197759. 3
686340197760. 4

Question Number : 40 Question Id : 68634050060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iy SR A food g | wet feo wifdiHed | g fear.
1. 1895
2. 1900
3. 1901

4. 1905
Options :
686340197757. 1
686340197758. 2
686340197759. 3
686340197760. 4

Question Number : 41 Question Id : 68634050061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[dentify the name of the Jyotirindranath's wite from the following list:-

1. Hem Lata Devi

| ]

. Kadambari Devi

. Pratibha Devi

%)

4. Sarala Devi
Options :
686340197761. 1
686340197762. 2
686340197763. 3
686340197764. 4

Question Number : 41 Question Id : 68634050061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafarad o ¥ Sifdgsy ot 9fd o1 78 gg=iig;
1. BH @l gdl
2. PreFaR] &dt
3. UfauT &t

4, T &l
Options :
686340197761. 1
686340197762. 2
686340197763. 3
686340197764. 4

Question Number : 42 Question Id : 68634050062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The song 'Dhana dhanya pushpa bhara' 1s written by:-

1. Atul Prasad Sen

-2

. Dwijendralal Roy

%)

. Rajami Kanto Sen

4. Rabindra Nath Tagore
Options :
686340197765. 1
686340197766. 2
686340197767. 3
686340197768. 4

Question Number : 42 Question Id : 68634050062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i o =g g8 W17 fg ferar:
1. el U= A
2. fgoigara @
3. AT DI I
4. Ifdg Y IR

Options :

686340197765. 1
686340197766. 2
686340197767. 3
686340197768. 4

Question Number : 43 Question Id : 68634050063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The song "Anjali Lahomor mor sangite" 1s written by:-

1. Swanu Vivekananda

| )

. Mukunda Das
3. Kshudiram Bose

4, Kazi Nazrul Islam
Options :
686340197769. 1
686340197770. 2
686340197771.3
686340197772. 4

Question Number : 43 Question Id : 68634050063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e *3foifer ArgTHIR Fitd fdg ferar:
1. TaTHl fdderig
2. ggg ey
3. R I

4. BIol qorod S
Options :
686340197769. 1
686340197770. 2
686340197771. 3
686340197772. 4

Question Number : 44 Question Id : 68634050064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Dwijendra Lal Roy was born in:-

1. 1960

| ]

. 1961

Tl

. 1964

4. 1966
Options :
686340197773. 1
686340197774. 2
686340197775. 3
686340197776. 4

Question Number : 44 Question Id : 68634050064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fols TTeT g DT & g3i:

1. 1960

| ]

. 1961
3. 1964

4. 1966
Options :
686340197773. 1
686340197774. 2
686340197775. 3
686340197776. 4

Question Number : 45 Question Id : 68634050065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I[dentify the name of Swarabitan 48 from the following list:-
1. Bhanu Singher Padavah

2. Kalmrigaya

%)

. Mayar Khela

4. Valmiki Pratibha
Options :
686340197777. 1
686340197778. 2
686340197779. 3
686340197780. 4

Question Number : 45 Question Id : 68634050065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fAf-aRgd o I waRfadr 48 &1 90 IHT:
1. Y1 R gerad
2. BIAHTTAL

3. HOR Wl
4, ATt gfdH

Options :

686340197777. 1
686340197778. 2
686340197779. 3
686340197780. 4

Question Number : 46 Question Id : 68634050066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the first song of drama 'Basanta':-

1. Sab dibi ke sab dib1 pay

| ]

. Baki aami1 rakhbona
3. Yadi tare nai chini go

4. Biday jakhon chaibe tumi
Options :
686340197781. 1
686340197782. 2
686340197783. 3
686340197784. 4

Question Number : 46 Question Id : 68634050066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e T BT HYH TiHd AT

1. 99 idll & ga el gre
2. ST SHTHI IRl T
3. Tl AR TS =
4. faqIU SRS 9134 Tt

Options :

686340197781. 1
686340197782. 2
686340197783. 3
686340197784. 4

Question Number : 47 Question Id : 68634050067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I[dentify the raga of the song 'Antara mama bikoshitokaro' from the following:-

1. Bhairabi

| ]

. Bhairab
3. Ashavari

4. Kafi
Options :
686340197785. 1
686340197786. 2
686340197787. 3
686340197788. 4

Question Number : 47 Question Id : 68634050067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T iR AT [9 e fadl @ &1 I T

1. TRt
 IRq
3. 3gTast
4. Il

Options :

686340197785. 1
686340197786. 2
686340197787. 3
686340197788. 4

| ]

Question Number : 48 Question Id : 68634050068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The style of the song 'Amar praner manush aachhe prane 1s:-
1. Kirtan
2. Baul
3. kheyal

4. Dhrupad
Options :
686340197789. 1
686340197790. 2
686340197791. 3
686340197792. 4

Question Number : 48 Question Id : 68634050068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T SR WOR AN 3T WO &1 YR o:
1. Bl
2. T

3. ©ied

4. YU
Options :
686340197789. 1
686340197790. 2
686340197791. 3
686340197792. 4

Question Number : 49 Question Id : 68634050069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I[dentify the song which 1s taken from South Indian tune:-

1. Mor bhabonare

| ]

. Basanti he bhubana mohim
3. Sukhohin nishidin

4. Purano sei diner katha
Options :
686340197793. 1
686340197794. 2
686340197795.3
686340197796. 4

Question Number : 49 Question Id : 68634050069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&0 YRA DT ¢ IR 3141 7Hd DI gfHT:

1. AR HIgR

2. SR & Yo Hifgl
3. gaifgT AR e
4. QRETEHgAR Pt

Options :

686340197793. 1
686340197794. 2
686340197795. 3
686340197796. 4

Question Number : 50 Question Id : 68634050070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I[dentify the Taal of the song "Duare dao more rakhiya” from the following list:-

1. Rupak

| ]

. Ekadoshi

%)

. Rupakda

4, Nabataal
Options :
686340197797. 1
686340197798. 2
686340197799. 3
686340197800. 4

Question Number : 50 Question Id : 68634050070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeiad o T wfid grR 2 AR IfET @f ard gHT:
1. F09D

2. Ud aIgil
3. 2P 3l

L ICIGIE]
Options :
686340197797. 1
686340197798. 2
686340197799. 3
686340197800. 4

Question Number : 51 Question Id : 68634050071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[dentify the song of Sobhayatra (prosession) in 'Brikshoropan festival at
Santiniketan :-

1. Nai rasa nai darun dahan
2. Maru byayer ketan urao
3. Jhare jay ure jay go

4. Eso he baishak eso eso
Options :
686340197801. 1
686340197802. 2
686340197803. 3
686340197804. 4

Question Number : 51 Question Id : 68634050071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TifaHedT § &R H8Icqd ' H YHIIET & T &1 g=i-g -
1. 95 79 5 &194 &6

2. A= [dolaR od 33t

3. SR TG IS W

4. 51 g1 99Rg 91 39
Options :
686340197801, 1
686340197802, 2
686340197803. 3
686340197804, 4

Question Number : 52 Question Id : 68634050072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'Purt hote paliyechhe je puro sundari' who sings this song in Dance Drama
'Shyama'?

1. Prahari

[

. Kotal

T

. Bajrasen

4. Uttiya
Options :
686340197805. 1
686340197806. 2
686340197807 3
686340197808. 4

Question Number : 52 Question Id : 68634050072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Fred g H 1 g uriees o R et 1fid feen man e
1. WK1
2. Plcd

3. goi
4. 3@

Options :

686340197805. 1
686340197806. 2
686340197807. 3
686340197808. 4

Question Number : 53 Question Id : 68634050073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct division of surfaktal which 1s used in Rabindra Sangit :-

1. 2|3{2

L]

[
[
[ ]
T
[
[

3. 402/4

4. 3|2|3]2
Options :
686340197809. 1
686340197810. 2
686340197811. 3
686340197812. 4

Question Number : 53 Question Id : 68634050073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ghhdia' drd 1 el [dHE IHT:

1. 2/3

[
(%)

[ ]
| (]
[
b
)
b

3. 4/2/4

4.3/2/3/2
Options :
686340197809. 1
686340197810. 2
686340197811. 3
686340197812. 4

Question Number : 54 Question Id : 68634050074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I[dentify the division of Noba panchatal from the following list :-

1.24/44/4

| ]

. 2/4|4/4
3. 312]2/3/4

4. 44|44
Options :
686340197813. 1
686340197814. 2
686340197815. 3
686340197816. 4

Question Number : 54 Question Id : 68634050074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 J9dIa & Hel [aHFT gHT

1. 24444

| o]

. 2/4/4/4
3. 312]2/3/4

4. 44|44
Options :
686340197813. 1
686340197814. 2
686340197815. 3
686340197816. 4

Question Number : 55 Question Id : 68634050075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many khali (phank) in taal 'Dhamar’ which 1s used in Rabindra Sangit?

1.1

| ]
L]

Tl
-

4.4
Options :
686340197817. 1
686340197818. 2
686340197819. 3
686340197820. 4

Question Number : 55 Question Id : 68634050075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Tfia & wanT yaR arer | fedH @l (W)

1.1

| ]
L]

4. 4
Options :
686340197817. 1
686340197818. 2
686340197819. 3
686340197820. 4

Question Number : 56 Question Id : 68634050076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I[dentify the song which 1s Kirtan Style with 'Akhor’ trom the following list :-

1. ohe jibana ballava

| )

. Na chahile jare pawa jay

%)

. Krishna kali aami tarei boli

4. Amar mollika bone
Options :
686340197821. 1
686340197822. 2
686340197823. 3
686340197824. 4

Question Number : 56 Question Id : 68634050076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'3ER & 1Y B Bl ag I1d Dl FHT -
1. 3{Tg Sl gTerdr
2. 1 =1 SR UraT 9i1e
3. PN Bt HTH AR St
4. AR AT -

Options :

686340197821. 1
686340197822. 2
686340197823. 3
686340197824. 4

Question Number : 57 Question Id : 68634050077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the song which i1s composed in 'Surfaktal' :-

1. Pratham yuger uday digangane

| ]

. Prathama aadi taba sakti

. Prathme alor charan dhwani

%)

4. Prabhate bimala anande
Options :
686340197825. 1
686340197826. 2
686340197827. 3
686340197828. 4

Question Number : 57 Question Id : 68634050077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

' gtheparer T 1iid @l U=y -
1. UYH TR 3d feam
2. UYH 3TE} 79 fad
3. TYH AR =ROT 49
4. gHTd fermer 3

Options :

686340197825. 1
686340197826. 2
686340197827. 3
686340197828. 4

Question Number : 58 Question Id : 68634050078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who discovered the Bengali tappa gaan?

1. Dasharathi Roy

| ]

. Srikantha Singha
3. Bishnu Narayan Bhatkhande

4. Ram Nidhi Gupta
Options :
686340197829. 1
686340197830. 2
686340197831. 3
686340197832. 4

Question Number : 58 Question Id : 68634050078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CUIR R ERCITIE
1. SeRYT T
2. fide &g
3. faw] AR UraEs
4. 3H T T

Options :

686340197829. 1
686340197830. 2
686340197831. 3
686340197832. 4

Question Number : 59 Question Id : 68634050079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which type of instrument 1s used in dhrupad style Rabindra Sangit?

1. Tabla

-2

. Drum
3. Srikhole

4. Pakhawaj
Options :
686340197833. 1
686340197834. 2
686340197835. 3
686340197836. 4

Question Number : 59 Question Id : 68634050079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YU UPR a5 Giitd T &1 91 are] TaHT §idl -

1. ddell

2. g4
3, dlard

4. ydiad
Options :
686340197833. 1
686340197834. 2
686340197835. 3
686340197836. 4

Question Number : 60 Question Id : 68634050080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I[dentify one of the Notation writer of Rabindra-Sangit from the following list :-

1. Kshitimohan Sen

| ]

. Kangalicharan Sen

%)

. Hemanta Mukhopadhyay

4, Kazi Nazrul Islam
Options :
686340197837. 1
686340197838. 2
686340197839. 3
686340197840. 4

Question Number : 60 Question Id : 68634050080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafeiaa o O vdi= driid waRfafy foree ard safad &1 g
1. &faHig 99
2. BRI

3. BHd gElareE™

4. BIol qorod S
Options :
686340197837. 1
686340197838. 2
686340197839. 3
686340197840. 4

Question Number : 61 Question Id : 68634050081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the Tagore's Music teacher (Guru) from the following list :-

1. Ustad Allauddin Khan

| ]

. Bishnu Narayan Bhatkhande
3. Srikantha Singha

4. Nandalal Bose
Options :
686340197841. 1
686340197842. 2
686340197843. 3
686340197844. 4

Question Number : 61 Question Id : 68634050081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR & i 1% &1 AL
1. 3G A3 Ei
2. faw] AR M0 UIaEs
3. 4156 88

4, <A 919
Options :
686340197841. 1
686340197842. 2
686340197843. 3
686340197844. 4

Question Number : 62 Question Id : 68634050082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the song of 'Bhanu Singher Pada Vali'™ from the following list :-

1. Sanggachhadhwang Sangbadadhwang

| ]

. Smaragarala Khandanang
3. Vandemataram Sujalang Sufalang

4. Maranare tunhu momo shyama saman
Options :
686340197845. 1
686340197846. 2
686340197847. 3
686340197848. 4

Question Number : 62 Question Id : 68634050082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafertad & ¥ 4 [ER uerae &1 7iid 9He:
1. G5 od Jyedy

2. JHRIRAI GUsIT

3. 98 TIRY Yoray gUam

4. ARTR g HiH WH 969
Options :
686340197845. 1
686340197846. 2
686340197847. 3
686340197848. 4

Question Number : 63 Question Id : 68634050083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many shruties are in Indian music?

1.20

i

| ]

Tl

;23

4. 25
Options :
686340197849. 1
686340197850. 2
686340197851. 3
686340197852. 4

Question Number : 63 Question Id : 68634050083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

R it 3 e sgfeil &
1. 20

7

| ]

3.23

4.25
Options :
686340197849. 1
686340197850. 2
686340197851. 3
686340197852. 4

Question Number : 64 Question Id : 68634050084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



I[dentify the song which was written for "Rakhi Bandhan"

1. Aa mori Bangla bhasha

| )

. Aamar Sonar Bangla
3. Banglar mati banglar jal

4. Aj1 Bangla desher hriday hote
Options :
686340197853. 1
686340197854. 2
686340197855. 3
686340197856. 4

Question Number : 64 Question Id : 68634050084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rl Sy & e I 1fid @1 g
1. T ART €71e Hre
2. MR AR §77a
3. §7AIR AIET FTAR S

4. 3foil ST 4¥R §4Y Bid
Options :
686340197853. 1
686340197854. 2
686340197855. 3
686340197856. 4

Question Number : 65 Question Id : 68634050085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I[dentify the name of Atul prasad Sen's Notation Book :-

1. Swarabitan

| ]

. Kalkoli

%)

. Geeti gunja

4. Geetamalika
Options :
686340197857. 1
686340197858. 2
686340197859. 3
686340197860. 4

Question Number : 65 Question Id : 68634050085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'3l UIE I i TaRferd gide giHu .
1. TRfedE
2. PIablall

3. TS
4, AT

Options :

686340197857. 1
686340197858. 2
686340197859. 3
686340197860. 4

Question Number : 66 Question Id : 68634050086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the song with the help of this notation :-
GE’#IIIFE‘ZE}'_ DP|P=P|PP

1. Kotha je udhao holo

[ ]

. Kotha baire dure jayre ure

L]

. Kotha hote baje prem bedonare

4. Kotha chhili sajani lo
Options :
686340197861. 1
686340197862. 2
686340197863. 3
686340197864. 4

Question Number : 66 Question Id : 68634050086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafefad g 9 7iid ug=n-e -
GMUPSN|DP[P=-P[PP

1. PIYT S Y13l §led

2. PIYT G G SR B

3. PIYTEI &1 U §3FR

4. oIYT fdl gu- &l

Options :

686340197861. 1
686340197862. 2
686340197863. 3
686340197864. 4

Question Number : 67 Question Id : 68634050087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the song which 1s used in Drama Natir pwa'?

1. Pub sagarer par hote

| ]

. Pub haowate dey dola
3. Purba gagana bhage

4. Purba chaler pane takai
Options :
686340197865. 1
686340197866. 2
686340197867. 3
686340197868. 4

Question Number : 67 Question Id : 68634050087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR ol ATce H JagiT 7iid &1 T
1. Jd 9'RY UR §id
» TH 5a1 TS
3. QR T YA
4. qR&1 TR 91 dITg

Options :

686340197865. 1
686340197866. 2
686340197867. 3
686340197868. 4

Question Number : 68 Question Id : 68634050088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the song which 1s used in Musical Drama "Mayar Khela' :-

1. Amar motha nata kore

| )

. Amar hriday tomar apan hater

%)

. Amar e path tomar pather theke

4. Amar paran jahe chay tumi tai go
Options :
686340197869. 1
686340197870. 2
686340197871. 3
686340197872. 4

Question Number : 68 Question Id : 68634050088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7t Ale TR Tar H {5 7iid &1 Jar gail -

1. AR T ATd B

| )

. 3R E&g diER Y Bl
. 3HR U Y JHER 914R UH]

4. 3R YIUT §1g <1¢ qHt arg 7
Options :
686340197869. 1
686340197870. 2
686340197871. 3
686340197872. 4

T

Question Number : 69 Question Id : 68634050089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the song which is composed in rag 'Adana’ :-

1. Mondire mama ke

| )

. Antara mama bikoshito karo
3. Tomar asime pran mon loye

4. Hriday nandana bone
Options :
686340197873. 1
686340197874. 2
686340197875. 3
686340197876. 4

Question Number : 69 Question Id : 68634050089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT ST H I Tiid & T
1. i AT D
2. SHRT AT faPpifad oI
3. TR e gror {1 ferl

4. g3g HeTaH
Options :
686340197873. 1
686340197874. 2
686340197875. 3
686340197876. 4

Question Number : 70 Question Id : 68634050090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I[dentify the song which i1s composed in a South Indian raga :-

1. O amar disher mati

| ]

. Eki e eki e sthira chapala
3. Eki labonye purna pran

4. E ki e sundar sobha
Options :
686340197877. 1
686340197878. 2
686340197879. 3
686340197880. 4

Question Number : 70 Question Id : 68634050090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l yRa I 8 [ 1| 31 g
1. 37 3R <R AT
2. 3915 31 U RR =g

3. g1 da ol gro

4. 3P1 g TG AT
Options :
686340197877. 1
686340197878. 2
686340197879. 3
686340197880. 4

Question Number : 71 Question Id : 68634050091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the song which 1s written by Rajon1 Kanto Sen :-

1. Tumi nirmala karo mongala kare

| )

. Anjali laho mor samgite
3. Eka mor ganer tori bhasiye

4. Dhana dhanyo pushpa
Options :
686340197881. 1
686340197882. 2
686340197883. 3
686340197884. 4

Question Number : 71 Question Id : 68634050091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tt id I gRT 3= 7iid IHe

1. T Fed =i Hird
2. J{ofdlt gl AR it
3. 5P| HIR MR ikl YT
4. YT eI g

Options :

686340197881. 1

686340197882. 2

686340197883. 3
686340197884. 4

Question Number : 72 Question Id : 68634050092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the song which i1s composed in Baul' style :-

1. Akashe du1 hate prem bilay

-2

. Danrao mono ananto Brahmando majhe

. Mor bhabonare ki hawai

%)

4. eso shamal sundar
Options :
686340197885. 1
686340197886. 2
686340197887.3
686340197888. 4

Question Number : 72 Question Id : 68634050092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST Jeft A I i B IR
1. 381 g3 §Id A faa
2. SRISH HIAT 3 SRSt J1sy

3. AR YGR & galg

4, 59 0T a3
Options :
686340197885. 1
686340197886. 2
686340197887. 3
686340197888. 4

Question Number : 73 Question Id : 68634050093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[dentify the song which i1s composed i 'Kirtan' style :-

1. Otho othore bifale prabhat

| ]

. 01 asan taler matir pare
3. Tumi noba noba rupe eso

4. Sukho hin nisidin paradhin hoye
Options :
686340197889. 1
686340197890. 2
686340197891. 3
686340197892. 4

Question Number : 73 Question Id : 68634050093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EARERRIRERECRIGEC(E1
1. 31147 YR [ guTd
2. 3113 3TE AIeR AR IR
3. gl AiET AT 30 g4

4. g@! fe7 AR = 8w
Options :
686340197889. 1
686340197890. 2
686340197891 3
686340197892. 4

Question Number : 74 Question Id : 68634050094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the song which is composed in taal 'Rupak’ :-

1. He nobina he nobina

| B

. He nirupama he nirupama
3. He mono tanre dekho ankhi khulie

4. He mor devota bharia e deho pran
Options :
686340197893. 1
686340197894. 2
686340197895. 3
686340197896. 4

Question Number : 74 Question Id : 68634050094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U A H If=d Iiid @ I
1. ® AlEHT g Al &=
2. 8 FeumT g fHouH
3.8 UHI AR g Sl el
4. 8 AR GadT HIRSM T S@! Ao

Options :

686340197893. 1
686340197894. 2
686340197895. 3
686340197896. 4

Question Number : 75 Question Id : 68634050095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the song which is composed in 'Dhamar' taal :-

1. He nutan dekha dikar bal

| ]

. Khara bayu boy bege

%)

. Nutan prana dao pran sakha

4, Kamna hasir dol dolno
Options :
686340197897. 1
686340197898. 2
686340197899. 3
686340197900. 4

Question Number : 75 Question Id : 68634050095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR e § a1 9
1.8 a7 qEr faaR ad
2. W U &l

3. <] TTOT 134T W07 T
4. BT BIRR Gl gl

Options :

686340197897. 1
686340197898. 2
686340197899. 3
686340197900. 4

Question Number : 76 Question Id : 68634050096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other 15
labelled as Reason R

Assertion A: At the age of almost 70 years. Rabindranath srtarted pamting and he
made numerous paintings.

Reason R: Tagore's paintings were exhibited in many countries in his lifetime.

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

| ]

. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A 1s not correct but R 1s correct
Options :
686340197901. 1
686340197902. 2
686340197903. 3
686340197904. 4

Question Number : 76 Question Id : 68634050096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR ey fRrTu ! w%arf‘wuﬂ{i}%mﬁ%%ﬁ%a‘rm
SHS TRV (R) T =4

TUBUT A : T 70 TN DI 3 U IG5 SR A Dl = @ SR §gd
RASEECEIg

HRYIR : TR & (oH] DI YR 34D oila- I & 3 <=1 § Ueiid g5
SWRIG B & 3fTdie |, 119 AU 1Y fasbedl § 3 981 IR &1 997 DI
1. A MR R T 3T R, A P! Tg AT &
2. A 3R R 41 T B SR R, A BT W&t 2 161 &
AT AfPAR AT

4 AT EAFTIRTTR
Options :




686340197901. 1
686340197902. 2
686340197903. 3
686340197904. 4

Question Number : 77 Question Id : 68634050097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1z labelled az Assertion A and the other 1z labelled as
Reason R

Assertion A: Tagore wrote many songs on Mother India.

Reason R: Tagore was very pleased with ongoing Patriotism and Nationalism 1 his time and
s0 he gave more importance to Nationalism.

It the light of the above statements, choose the correct answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A

3. A is true but R 1s false

4. A 1s false but R is true
Options :
686340197905. 1
686340197906. 2
686340197907. 3
686340197908. 4

Question Number : 77 Question Id : 68634050097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RAasEReTus: w%arf‘wu?{m%mﬁ%ﬁﬁ%a’rm
IHS TV (R) & =4

MfYFYT A : TR A lﬂ?ﬂﬂﬁﬂﬂ?ﬁﬁﬁﬁ@%l

HRUIR : 39 I9 H APIIAEIG 3R SHfR ggd SRI H 471 g8 SR agd
G Y qUTIBATE D] 351 I Hed a1 IwRiad $YF & e 5, -
feu o fomwegt & O Ut IWR &1 999 P

1. AR R I T MR, AP TS AT &

2. A SRR R GIF 9 B SR R, A Bt U5t e 181 &

AT AfPAIR 3T E
4 AT AfPAIRTTE

Options :

686340197905. 1
686340197906. 2
686340197907. 3
686340197908. 4

Question Number : 78 Question Id : 68634050098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as

Reason R

Assertion A: Tagore articulated the importance and cheerfulness of voung minds through
some of his dramas like Dakghar, Achalayatan, tc.

Reason R: In his memory 'Jibansmriti', Tagore mentioned about his full freedom under the
care of servants.

In the light of the above statements, choose the mest appropriate answer from the options
given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R 1s NOT the correct explanation of A

3. A is correct but R is not correct

4. A is not correct but R is correct



Options :

686340197909. 1
686340197910. 2
686340197911. 3
686340197912. 4

Question Number : 78 Question Id : 68634050098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR atey iy s w%arf‘wuq{a & ¥ ¥ fafed & 9t gam
SUS BV (R) & =4

AHTUFUT A %ﬂ?ﬁﬁﬂﬁﬁﬂ?ﬁ%%ﬂﬂﬁﬁﬁaqﬁmmaﬁa@wmﬁ
& [AU 39 S e ol SIHER, AT & gRI [T |

BRI R : U ATHGYT Sled Hid B SR A 39 Ul & 3fia gol
WdAdl @1 94 Bl g

TIRITd P & 3fTelie 5, F14 f3u 77U fgpedt & 3 9} IR &1 997 Fifom.

1. AR RIT T MR, AP TS AT &
2. AMR R T E SRR, A DI HS ARSI 81 &

ATIEAfPTIR T

4 AT EAPIRITE
Options :
686340197909. 1
686340197910. 2
686340197911. 3
686340197912. 4

Question Number : 79 Question Id : 68634050099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Grven below are two statements: one 1s labelled az Assertion A and the other 1= labelled as

Reason R

Assertion A: Gitanjali by Rabindranath Tagore was accepted as a poetry of wisdom and
beauty by western world.

Reason R: Most of the poems of English Gitanjali are reflections of deep philosophical
understanding of Tagore.

In the light of the above statements, choose the correct answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A

3. A is true but R is false

4. A 1s false but R 1s true
Options :
686340197913. 1
686340197914. 2
686340197915. 3
686340197916. 4

Question Number : 79 Question Id : 68634050099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ﬁﬁwﬁw%-w%ﬁwwm%wﬁ%ﬁa%a’rm
IUP BV (R) & +9 H;

HUFYTA W%Jﬁwﬁﬁﬂﬂﬂé?ﬂ?ﬂﬁ Tfidisier T giarr 3R
ey eTeg & =1 & U5 e 2|

BRI R : ol A & iR 1iq. 2R & Te-argul g% Id &1
TS &1 AP ad o

SRIGd HYT & e 1, A 2 7 foee ¥ T Agl SR &1 99 S

1. AR RIFT T MR, A P TS AT &

2. A SRR R GIF 9 B SR R, A Bt U5t e 181 &

AT AfPAIR AT
4 AT AfPAIRTTE

Options :

686340197913. 1
686340197914. 2
686340197915. 3
686340197916. 4

Question Number : 80 Question Id : 68634050100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as

Reason R

Assertion A: Learners of Rabindra Sangit must have a training of Indian classical music to
understand Tagore songs in a better way.

Reason R: Rabindranath had a deep sense of Indian Ragas what he used in his unique wavs.

Inn the light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

| ]

. Both A and R are true but R 1s NOT the correct explanation of A

3. A iz true but R is false

=

. A 1z falze but R 15 true



Options :

686340197917. 1
686340197918. 2
686340197919. 3
686340197920. 4

Question Number : 80 Question Id : 68634050100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR atey iy s w%arf‘wuq{a & ¥ ¥ fafed & 9t gam
SUS BV (R) & =4

MfUFYT A %WWW@WWW&?&T&H@W
JHTawd & s § SR & idl &) el ag gu g B

HRUTR : W51 BT YRAF IFT BT Tgargul dHSRI 2, 59 3%
Higdig =9 I WA foar|

SRIT BUYF & 3l O, =4 37U 7 fabedi ¥ 3 Wd 3= &1 997 ST

1. AR RIT T MR, AP TS AT &

2 AMRREFTITA R IR R, AP GEl ATET TSl &
3. ATIEAfPIR 3T ®

1, AT APTIRTT R
Options :
686340197917. 1
686340197918. 2
686340197919. 3
686340197920. 4

Question Number : 81 Question Id : 68634050101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange chronologically according to year of the publication:

A. Nabin

B. Sanai (Kabya)
C. Basanta

D. Phalguni

Choose the correct answer from the options given below:
1LABCD
22.BCDA
3.DABC

4. CDBA
Options :
686340197921. 1
686340197922. 2
686340197923. 3
686340197924. 4

Question Number : 81 Question Id : 68634050101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YBTIRId aY & SR HAfRed Y&io! ol SIaddaR sIaied HIfe:
A AdH
B. TS (F10)
C. ¥d
D. BT
= feu e fawedl O 9 TE S &1 999 B :

1.LABCD

2Z2BCDA
3. DABC

4. CDBA
Options :
686340197921. 1
686340197922. 2
686340197923. 3



686340197924. 4

Question Number : 82 Question Id : 68634050102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange chronologically according to year of the publication:

A. Shrabon Gatha
B. Muktodhara
C. Natir Puja

D. Sarodatsav

Choose the correct answer from the options given below:
1.LABCD
2.BACD
3.3.DBCA

4. CDAB
Options :
686340197925. 1
686340197926. 2
686340197927. 3
686340197928. 4

Question Number : 82 Question Id : 68634050102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YBTIH a8 & SR FHARIT B SIpAHIR afedd o -

A. YUYl
B. T TYRT
C. 1R gait
D. RIGa4d
A feu e faeeul § | Ugt SOX &1 991 Hig

1.ABCD

| ]

.BACD
3.0BCA

4. CDAB
Options :
686340197925. 1
686340197926. 2
686340197927. 3
686340197928. 4

Question Number : 83 Question Id : 68634050103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange chronologically according to year of the publication:

A. Mayar Khela

B. Kalmrigaya

C. Bisharjan

D. Bau Thakuranir hat

Choose the correct answer from the options given below:
1.ABCD
2.BDAC
3.CBAD
4. DCBA
Options :
686340197929. 1

686340197930. 2
686340197931. 3



686340197932. 4

Question Number : 83 Question Id : 68634050103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[FAfIREd 1 HHTRH Ty & STIR BIBHHIR afyd HIfor -

A AR Edl

c e

3

D. 91 PRI Tl

i feg e fowedt A & w5t SR &1 99 Fife -

1.LABCD

| )

.BDAC
3.CBAD

4. DCBA
Options :
686340197929. 1
686340197930. 2
686340197931. 3
686340197932. 4

Question Number : 84 Question Id : 68634050104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange chronologically according to year of the publication:
A. Kalmrigaya
B. Mayar Khela
C. Balmiki Pratibha

Choose the correct answer from the options given below:

1.LABC

| )

.BCA

T

.BAC

4. CAB
Options :
686340197933. 1
686340197934. 2
686340197935. 3
686340197936. 4

Question Number : 84 Question Id : 68634050104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Teh1IRId Y] & a8 & SHR HIAPHAEYR o4 RUd HIfof :

A. BTG
B. IR Wdl
c. Fifeafe ufaur

e feu e faeeul § | U8t SO% &1 99 Hiig :

1. ABC

| ]

.BCA
3.BAC

4. CAB
Options :
686340197933. 1
686340197934. 2
686340197935. 3
686340197936. 4



Question Number : 85 Question Id : 68634050105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange chronologically according to Gitabitan:

A. Utsab
B. Sadhak
C. Bibidha
D. Biswa
E. Ananda

Choose the correct answer from the options given below:
1LBAEDC
2.ABCDE
3.CDEAB

4 DEABC
Options :
686340197937. 1
686340197938. 2
686340197939. 3
686340197940. 4

Question Number : 85 Question Id : 68634050105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hiafard & TR BIAPHER Hareyd S :

A. 394
B. HIU®H
C. fafaer
D. faqar
E. 3

I feu e At & | |8t ST &1 994 S :

1-:BAEDC

2.ABCDE
3.CDEAB

4. DEABC
Options :
686340197937. 1
686340197938. 2
686340197939. 3
686340197940. 4

Question Number : 86 Question Id : 68634050106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify two songs which are taken from 'Gitanjali' kabya:

A. Amar khela jakhon

B. Amar hiyar majhe

C. amar li rikto dali

D. Amar math noto kore
E. Amar dhala ganer dhara

Choose the correct answer from the options given below:
1. A. D only
2. B, C only
3. C.D only
4. D. E only

Options :
686340197941. 1



686340197942. 2
686340197943. 3
686340197944. 4

Question Number : 86 Question Id : 68634050106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TSI BTod & SHR 3l 7| &l Ug<H SIfoy -

A. 3HR 9l 5EH
B. 3{HR fgar O
C. THR 541 f¥adi greft
D. HR J1Y Fldl R
E. HTHR STl TR URT

= feu e fowen § ¥ 98t SO &1 994 S .
1. %ad A 3R D
2. PauB AR C
3.%4d C AR D
4.%qu D 3R E

Options :

686340197941. 1
686340197942. 2
686340197943. 3
686340197944. 4

Question Number : 87 Question Id : 68634050107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the two songs which are taken from Paryay Pwa’:

A Chitta pipasi tore

B. Surer Guru dao go surer
C. Eito bhalo legechhilo
D. Biswa sathe joge jethay

Choose the correct answer from the options given below:
1. A. B only
2. B. E only
3. C,D only

4. D. E only
Options :
686340197945. 1
686340197946. 2
686340197947. 3
686340197948. 4

Question Number : 87 Question Id : 68634050107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iy ger 9 e <1 Tl 1 gg -

A o U aR

B. YR T2 Gl MR
c. feyfer e

D. Sdi Yl arT feoel!
E. fay 19 o foumg

At feu e fowel § @ 98t SX &1 99+ S .
1. %ac A 3R B
2. $ad B R E
3.%a0 C 3R D
4.qd D 3R E

Options :
686340197945. 1




686340197946. 2
686340197947. 3
686340197948. 4

Question Number : 88 Question Id : 68634050108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify three charactors from drama 'Bisarjan'”:

A. Nayan Roy

B. Bishu pagol

C. Nakshatra Roy
D. Chand Pal

E. Upali

Choose the correct answer from the options given below:
1. A.B. C only
2. A.C.D only
3.B.C.D only

4.C.D. E only
Options :
686340197949. 1
686340197950. 2
686340197951. 3
686340197952. 4

Question Number : 88 Question Id : 68634050108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



faor Ared & o9 U=l &1 ug=n -

A, FTAI™
B. fagg g
C. &g
D. 9ig 91d
E. 3UIfel

+a fau 7T fAwedl § & HEt SR &1 99 S :
1.9dwU A, B, C
2. BAAA.C.D
3. %4 B,C. D
4. HAUC, D, E

Options :

686340197949. 1
686340197950. 2
686340197951. 3
686340197952. 4

Question Number : 89 Question Id : 68634050109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the two similar ragas from the following list:

A. Tomar Asime Prana

B. Antara mama bikoshito karo
C. Eso shyama sundar

D. Biswa sathe joge jethay biharo
E. Pratidin ami he jiban swami

Choose the correct answer from the options given below:
1. A. B only
2. B, C only
3.B. D only

4. D. E only
Options :



686340197953. 1
686340197954. 2
686340197955. 3
686340197956. 4

Question Number : 89 Question Id : 68634050109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeiRad & T 31 99 T Pl ug=y ;

A, TR 31EH 9107
B. a1 AT fah Rd &)
C. THI g X
D. fasy ¢ St forum fagry
E. Wiafe 3Ht 8 Siie- @t

=i fow e fawedil § § 98! SR &1 99+ i :
1. %ad A 3R B
2. PIAB IR C
3.$adB 3RD
4. %08 D AR E

Options :

686340197953. 1
686340197954. 2
686340197955. 3
686340197956. 4

Question Number : 90 Question Id : 68634050110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the two similar ragas from the following list:

A. Bina bajao he
B. Tumi naba nabo rup
C. Bani taba dhay ananta gagane

D. Ananda dhara bohichhe
E. Mondire mamo ke

Choose the correct answer from the options given below:
1. A. B only
2.C.E only
3. B, C only

4. D. E only
Options :
686340197957. 1
686340197958. 2
686340197959. 3
686340197960. 4

Question Number : 90 Question Id : 68634050110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeiRad & T 3 99 I &l g8y ;

A SO O §

B. qHl 99 961 &4

C. S0l dd &=dl T

D. g YR dig=s

E. Hifex A &

= feu e fosea § ¥ 98t SO &1 994 BIfeig ;

1. Pad A 3R B

2. %dd C AR E

3. HAAB AR C

4. HdAD ARE

Options :




686340197957. 1
686340197958. 2
686340197959. 3
686340197960. 4

Question Number : 91 Question Id : 68634050111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify two songs of similar tunes from the following list:

A. Ami Chitrangda ami rajendra

B. Amu ki bole koribo nibedan

C. Ami chanchala he ami sudurer piyasi
D. Ami ki gaan gabo je

E. Ami tomare koribo nibedan

Choose the correct answer from the options given below:

1. A. B only

| S

. B.E only

L]

. C.D only

4. D. E only
Options :
686340197961. 1
686340197962. 2
686340197963. 3
686340197964. 4

Question Number : 91 Question Id : 68634050111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafeiad o 9 us ur o & ggani-u

A, et Fepiar Sl e

B. 3! 31 a1 SIRkal Fdea
C. 3! T & S IR AR
D. 3 B T e

E. 3t TR SIfe Faed

= feu e foeen § ¥ 98 SO &1 999 Bifeie
1. %ad A 3R B
2. Pad B ARE
3.%4d C 3R D
4. HaAD ARE

Options :

686340197961. 1
686340197962. 2
686340197963. 3
686340197964. 4

Question Number : 92 Question Id : 68634050112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify two songs from the list which are composed in Tala 'JTampak':

A. Tumi kemon kore gaan

B. Je dhuba pada diyechho

C. Mor bhabonare ki haowai
D. Amare tumi ashes korechno
E. Rim jhim ghona ghanare

Choose the correct answer from the options given below:
1. A. B only
2.B.D only
3. C.D only

4. D. E only
Options :



686340197965. 1
686340197966. 2
686340197967. 3
686340197968. 4

Question Number : 92 Question Id : 68634050112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeiRad o T a1 gue J a1l &1 gH

A. THI A BRI

B. O a1 Ug f3us!

C. IR YR &1 g1ilarg
D. AR AT 3RY DRI
E. A 3 4F R

= feu e fowen § ¥ 98t SR &1 999 B .
1. $ad A 3R B
2. HAAB IR D
3. HIAC ARD
4. %$9aD 3IRE
Options :
686340197965. 1
686340197966. 2

686340197967. 3
686340197968. 4

Question Number : 93 Question Id : 68634050113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the three songs which are composed in Trital:

A. Sei bhalo se1 bhalo

B. Kotha hote baje prem bedona
C. Mor bhabonare ki haowai

D. Khara bau boy bege

E. Dake bara bar

Choose the correct answer from the options given below:

1. A.B. C only

I-J

.B, C.E only
3.D.E. Aonly

4.C.B.D only
Options :
686340197969. 1
686340197970. 2
686340197971. 3
686340197972. 4

Question Number : 93 Question Id : 68634050113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fdra & Xf<rd di= wiidi @1 ug=r-e -

A. g YIe I3 yral

B. BIYTTIA &0l UH §gH1
C. AR Ya R &1 graifiars
D. @RI &3 §1U 671

E. S &N dR

= feu e fosea § ¥ 98t SO &1 994 BIfeig ;
1.9d A, B, C
2. $dU B, C. E
3. AU D.E. A
4. 99U C,B.D

Options :




686340197969. 1
686340197970. 2
686340197971. 3
686340197972. 4

Question Number : 94 Question Id : 68634050114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the two songs which are composed in taal Chawtal:

A. Alo amar alo ogo

B. Gharete bhramar elo

C. Rim jhim ghana ghana re

D. Bani tabo dhay ananta gagane
E. Bharate rakho nitya prabhu

Choose the correct answer from the options given below:
1. A. B only
2.C.D only
3.B. C only

4. D. E only
Options :
686340197973. 1
686340197974. 2
686340197975. 3
686340197976. 4

Question Number : 94 Question Id : 68634050114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i § Iad < 1l o1 gg=n- -

A. 3Tell 3HR 3TE! Tl
B. YRd HIHR Tadl
c.ROBm v
D. §H1 d1al =41 T
E. U YRd 4@l Har gy

+a fau 7T fAwedl § & HEt SR &1 99 S :
1. %ad A 3R B
2.%4d C AR D
3.%auB 3R C
4.%qdD IR E

Options :

686340197973. 1
686340197974. 2
686340197975. 3
686340197976. 4

Question Number : 95 Question Id : 68634050115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify two songs from list of dance drama 'Chandalika':

A. Puri hote palie chhe

B. Ketechhe ekela biraher
C. Phul bale dhanya ami

D. Amar paran jaha chay

E. Swarnabarna Samuijwala

Choose the correct answer from the options given below:
1. A. C only
2. B, D only
3.C.E only

4. D. E only
Options :



686340197977. 1
686340197978. 2
686340197979. 3
686340197980. 4

Question Number : 95 Question Id : 68634050115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I Aed 4fvsfeeT & < wiidi &l U -

A. T3 gId Tiferg 34
B. bd=s- Tdhdl faiex
C. Bod dlet U= 37t
D. TR U0 S8l 915
E. 01 0l 9o ara

=i fow e fawedil § § 98! SR &1 99+ i :
1. Pad A R C
2. %ad B AR D
3.%qd C 3RE
4. %08 D AR E

Options :

686340197977. 1
686340197978. 2
686340197979. 3
686340197980. 4

Question Number : 96 Question Id : 68634050116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Anjali Laho mor Sangite 1. Rabindranath Tagore
B. |[Tumi gao tunu gao go II. [Kazi Nazrul [slam
C. |Antar mama bikoshito karo| ITI. [Kamala Kanto sen
D. [Sadananda movee kali IV. JAtul Prasad Sen

Choose the correct answer from the options given below:
1. A-L. B-II. C-IIL. D-IV
2. A-TIL B-1. C-IV. D-II
3. A-IV. B-IIL. C-I1. D-I

4. A-II. B-IV, C-I, D-III
Options :
686340197981. 1
686340197982. 2
686340197983. 3
686340197984. 4

Question Number : 96 Question Id : 68634050116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 11 g1 11§ e ifor

T I GGl
A ARl arR g | 1 Ry TR
qat e g mA M | I [Be Aeed sy
SR a1 feeiiyd &3 | 111 [ &id 94

GerHe iy dl IV. [eige uang o
fgfafad fawedl § O gal 3d &1 994 Difelu

1. A-I. B-II. C-III. D-IV

ola[w]>

2. A-IIL B-I. C-IV, D-II
3. A-IV. B-III. C-II. D-I
4. A-II. B-IV. C-I. D-III

Options :
686340197981. 1



686340197982. 2
686340197983. 3
686340197984. 4

Question Number : 97 Question Id : 68634050117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Je dhruba pada divechho bandhi] 1. |Rupakda
B. [Nidra hara ratir e1 gaan II. [Nabatala
C. [iban maraner simana II1. |Thampak
D. [Nibir ghana andhare IV, |Sashti

Choose the correct answer from the options given below:

1. A-I, B-II. C-III. D-IV

| ]

AW B-IV, C-1L, D-II
3. A-IL. B-III. C-IV. D-I

4. A-IV. B-1. C-II. D-III
Options :
686340197985. 1
686340197986. 2
686340197987. 3
686340197988. 4

Question Number : 97 Question Id : 68634050117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 1 b1 =i 11§ e ifore

Gl I
S 44 Ug feual |idl | 1 [sudar
A eI AT § T4 | 1L [Hadia
SiTe JRT = FSEHET | 1L B
RIEERIGEIEIE v [wgt

fgfdlad fawmedl § O gel 3 &1 994 Sifelu

1. A-I. B-II. C-IIIL. D-IV

ola[w]>

2. A-IIE B-IV, C-1. D-1I
3. A-IL B-III. C-IV. D-I

4, A-IV, B-I. C-II. D-III
Options :
686340197985. 1
686340197986. 2
686340197987. 3
686340197988. 4

Question Number : 98 Question Id : 68634050118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
[F amprasad sen I. |Churulia
[Kazi Nazrul Islam | II. |Birbhum (Raipur)
F.abindranath Tagore| [II. [Halizahar
Srikantha Singha IV. Jorasanko

ofafw[>

Choose the correct answer from the options given below:
1. A-IIL. B-1. C-IV. D-II
2. A-L. B-II. C-IIL. D-IV
3. A-IL B-IV. C-I. D-III
4. A-IV. B-III. C-II. D-I

Options :
686340197989. 1



686340197990. 2
686340197991. 3
686340197992. 4

Question Number : 98 Question Id : 68634050118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 1 1 gt 11 1 e ifore

o 1 T 1
{TH 7G99 1 [eiean
@Ioll Awed 39aM | 1L [§RYH RER)
a1y TR 111 [BTcirgey
off U3 1Hn IV. [SiRrE®t

Fafeiad [deedi ©§ 3 It 3R &1 904 S ;

1. A-IIL. B-I. C-IV, D-II

ofa]w]-

2. A-L B-II. C-III, D-IV

A-IL B-IV. C-I. D-III

L]

4. A-IV, B-III. C-II. D-I
Options :
686340197989. 1
686340197990. 2
686340197991. 3
686340197992. 4

Question Number : 99 Question Id : 68634050119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A [Pratidin ami he jiban swami| 1. [Kaharwa
B. [Eso shyamal sundar II. Dadra
C. |Alor amal kamal khani III. Thaptal
D. |Ora akarane chanchal IV, [Trital

Choose the correct answer from the options given below:
1. A-L. B-II. C-IIL. D-IV
2. A-IIL. B-IV. C-I1. D-I
3. A-IL. B-1. C-IV. D-III

4. A-IV. B-III. C-I. D-II
Options :
686340197993. 1
686340197994. 2
686340197995. 3
686340197996. 4

Question Number : 99 Question Id : 68634050119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 11 g1 11§ e ifor

T I T
Uidic ofHl & wigd @i | 1 [@exal
U] SO Yol 11 [erex
TR AT PG @Hl | L [BOdrd
3R BHRH Tgd WAl EGIGI

fgfafad fawedl § O gal 3d &1 994 Difelu

1. A-I. B-II. C-III. D-IV

ola[w]>

2. A-IIL B-IV. C-II. D-I
3. A-II. B-1. C-IV. D-III
4. A-IV. B-III. C-I. D-II

Options :
686340197993. 1



686340197994. 2
686340197995. 3
686340197996. 4

Question Number : 100 Question Id : 68634050120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST I1
[Ebar tor mara gange| . [Prakriti
[Kharabayu boy beggl II. [Swadesh
Sabare kort awahan | III. |Bichitra
Diarun agni bane re | IV, [Anusthanik

ofa[w]>

Choose the correct answer from the options given below:

1. A-I, B-II. C-III. D-IV

| ]

AL B-IV. C-1. D-II
3. A-IL. B-III. C-IV. D-I

4. A-IV. B-1. C-II. D-III
Options :
686340197997. 1
686340197998. 2
686340197999. 3
686340198000. 4

Question Number : 100 Question Id : 68634050120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 1 b1 =i 11§ e ifore

I T
wﬁﬂmm L [usfa
EREg aN e | 1 [F@ew
e Bl fdred | 1L [Ehd

e d a1V s
fgfdlad fawmedl § O gel 3 &1 994 Sifelu

1. A-I. B-II. C-IIIL. D-IV

ola[w]>

2. A-IIL B-IV. C-I, D-II
3. A-IL B-III. C-IV. D-I

4, A-IV, B-I. C-II. D-III
Options :
686340197997. 1
686340197998. 2
686340197999. 3
686340198000. 4



